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IfoJ=12,JK=_21_. If OE =8+/3, HG=_? . 1f04=9,BC=_13

16. The radius of a sphere is j. The distance from the center of the sphere to a
certain chord is k. How long is the chord? Answer in terms of j and k.

State and prove a theorem suggested by the figure.
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19. Investigate the possibility, given a circle, of drawing two chords whose
lengths are in the ratio 1:2 and whose distances from the center are in the
ratio 2: 1. If the chords can be drawn, find the length of each in terms of
the radius. If not, prove that the figure is impossible.
20. Three parallel chords of @ O are drawn as shown. Their lengths are 20,
16, and 12 cm. Find, to the nearest tenth of a centimeter, the length of -

chord XY (not shown). & X

Self-Test 1

1. Sketch a triangle inscribed in one circle and sketch a quadrilateral circum-
scribed about another circle.

i 2. Circles O and Q are congruent circles. The radius of © O is 8. The diame-

i terof ©@Qis 1 .

3. Two circles intersect in two points. How many common tangents can be
drawn to the circles?

i 4. A plane passes through the common center of two concentric spheres.

Describe the intersection of the plane and the two spheres.

' Points E, £ G, H, and J lie on ©O. H
i g —~
5. mEF = 6. mEHF = 7 ‘ /\
bbbbb 000 e 7. Suppose JH = HG. State the theorem that supports the conclu- ¥ 0 NG
sion that JH = HG. A 50
E
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